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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question. K b

Express the limit as a definite integral. 2 «—--
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Use areas to evaluate the integral.
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Find the average value over the given mterval
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Find dy/dx.
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Solve the initial value problem explicitly. ,'7 =
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Solve the initial value problem using the Fundamental Theorem Your answer will contain a definite integral.
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Solve the initial value problem.



Solve the initial value problem. S udv = Wv - Svd“
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Solve the problem.

9) The decay equation for a radioactive substance is known to be y = ype~0-031t, with t ir

days. About how long will it take for the amount of substance to decay to 54% of its
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Evaluate the integral. 2% =3
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